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(ii) From right A ADE, sin 10° = — = — = mAD= —— -
) = mAD ~ mA Sin 1ps — =208

(ili) d = MAD — mAB = 25.9 — 20.7 = 5.2 m
The width of the roof is 5.2 m.

.The angles of elevation of an airplane between

two observation points, A and B, are 30° and %
45° respectively.

If the vertical height of the plane at that
moment is 5 km, find the distance between %0° 45
A and B to the nearest tenth of a km.

.One of the Giza Pyramids in Egypt has a

square base with sides of 432 m and a height

of 144 m. To determine the angle of elevation

of the pyramid, a sextant was placed at point S,

800 m from the base of the pyramid. ~—— 800 s

Calculate the angle of elevation of the pyramid.

2.81°
.Use the diagram at the right to calculate the 7z B
height (h) of the viewing deck on top of the
Olympic Stadium observation tower. Give uS
your answer to the nearest metre. I
=

200m
.A bronze statue stands on top of the 86 m 2
high Capitol Building. From a point 50 m e o (-
above ground level, the angles of elevation
of the top and the bottom of the statue Z0° Be

were found to be 23° and 20° respectively.
Find the height of the statue.

[

.A man at the top of a 24 m high watch-
tower is looking down at a rock which is
15 m from the centre of the base of
the tower.

If the man’s eye is 1.8 m above the
deck, find the angle of depression of
the rock.

Rock

.From the viewing deck of the Olympic
Stadium observation tower, Carlos
spotted two boats on the St. Lawrence
River. The angles of depression of the two
boats are 40° and 65° and the height of
the tower is 175 m.

Find the distance between the two boats.
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